C.A.lllecrakoB. HepaBeHncTBa. Pa3nokeHne Ha MHOXKHUTEIU. Y TPaKHEHUS
Pemure HepaBeHCTBO (CHCTEMY HEPABEHCTB):
1. a) (2x2 —7x+6)(x+2)£(x2 +x—2)(x—2) ; 0) (2x2 +5x—3)(x—3)§(x2 —x—6)(x+3) :

x*—4x3 +4x?>9, x* —8x3+16x% > 25,
2. a) o

x* —6x°+9x% <16. x* —10x® + 25x° < 36.

2_ 2_ 2_ 2_
3.a)X QSX 9; X 42X 4.
2X+5 3x+2 4x+3 3x+5
x*+4x-8 x+5 1 x2+5x—10 x+6 2
< + ) S + J
4.a) x?—16 X+4 Xx-2 5) x?—25 X+5 x-3
x> =2x-1 x*-3x°+2 ) x> -3x-2 x*-5x*-4 )
+ > X+ X2 - > X —X°.
X—2 X—3 X—3 X-5

5. a) (x—5)Vx—4>3x-15; 6) (x—7)x—6>2x~-14.
x*\[36— x> <25\36-x*,  [x216-x* <9\16- X7,
6. 4) «/x+6>«/x+6 0) x/x+4>\/x+4
X+2  2x-3° X+2  2x-1
7. a) 2XSinX+1>2x+SinX; ) 2XcosX —3<3Cc0SX — 2X.
o {3x—sinx3xsinx—3, 5 {2x+cosx2xcosx+2,

. a

X—C0SX > Xcosx—1. X+sinx < xsinx +1.

9.a) 11- 4 +17* >17 +3- 4 + 4% ) 3" +10* <10 +4-3* + 32,
X2 +4<x*+4-3, x?.5*+9<x*+9.-5%,

10. a o
x?.5* +20>5x?+4-5%, X?-2*+18>2x%*+9-2%

11. a) xlog, x+1>x+log, X; 6) xlogs x+2>Xx+2log; X .

log, (x+5) _ logs (x+5) log, (x+6) _log,(x+6)
x-2  x+2 x-3  x+3
12.a) 4 )
X +x|og;(2x+9)—1sl+1l X +X|0927(2X+11)_4£1+g.
X" =X X X®—2X X

OTBeThI K YNPA’KHEHUAM

1 a) (-0 -2]u{2}; 6) (—oo-3Ju{3l. 2. a) {-1}U[34]; 8 {-1U[56]. 3. a)
(<0; ]u(—%;—%)u{B}; ) (—w;—Z]u(—g;—gju{Z}. 4 @) LU(34); 6 1. 5 a

[4; 5] U[13; +0); 6) [6; 7]U[10; + ). 6. a) {6} (-2, 15)U{5; 6}; 6) {-4}U(-20,5)U{3 4}. 7.

a) (—OO;O,S]U{%+27TH}, neZ; 6) (—oo15|u{r+27zn}, nezZ. 8. a) {-22n;-1}, neN; )

{r %+zﬁn}, Ne{0lUN. 9. a) (2 +00); 6) (< 2). 10. @) -2} 0[0; {2} ; ) {-3V0[0; {3},

11. a) (0;1)U(7; +0); 8) (0; 2)U(5; +). 12. a) {-4}U(-2;0)U(0;1); 6) {-5}U(-3;0)U(0; 2).





